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QUESTION 1

A major theme park is expanding the existing facility over a five-year period. The design phase will be completed one
year after the contract is awarded. Major engineering drawings will be finalized two years after the design contract is
awarded and construction will begin three years after the award of the design contract. New, unique ride technology will
be used and an estimate will need to be developed to identify these costs that have no historical data.

Resource planning must take all of the following into account except:

A. Types of materials, equipment and labor skills required to complete the project

B. Cash flow (expenditures) limitations for completing work on the project

C. Time available to complete the project

D. Earned value techniques established for the project

Correct Answer: D

QUESTION 2

An agricultural corporation that paid 53% in income tax wanted to build a grain elevator designed to last twenty-five (25)
years at a cost of $80,000 with no salvage value. Annual income generated would be $22,500 and annual expenditures

were to be $12,000.

Answer the question using a straight line depreciation and a 10% interest rate.

How many years will it take to earn $400 in interest on $800 at 4% compounded annually?
A. 10 years

B. 11 years

C. 12 years

D. 13 years

Correct Answer: A

QUESTION 3

A major theme park is expanding the existing facility over a five-year period. The design phase will be completed one
year after the contract is awarded. Major engineering drawings will be finalized two years after the design contract is
awarded and construction will begin three years after the award of the design contract. New, unique ride technology will
be used and an estimate will need to be developed to identify these costs that have no historical data.

Which of the following is least likely to improve a large earthmoving contractor\\'s productivity?

A. Using apprentice operators to save labor costs
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B. Starting summer work in the early morning hours to minimize work during peak heat periods of the day
C. Remove underground hazards prior to excavation work
D. Replacing old excavators with new, larger excavators

Correct Answer: B

QUESTION 4

Some of the principles of good communication are:

A. Seek to clarify your ideas before communicating; examine the true purpose of each communication; consider the total
physical and human setting whenever you communicate; be mindful, while you communicate, of the overtones as well

as the basic content of the message

B. Tell the other person what to do; give insincere praise; psychoanalyze the other person; make light of a serious
problem; do not gain the trust of anyone; always have a hidden agenda

C. Use short words; avoid jargon; avoid acronyms and abbreviations; use complete sentences; have a beginning,
middle and end; be accurate; be interested in what topic is being communicated

D. The social process by which people in a specific situation construct meaning using symbolic behavior

Correct Answer: C

QUESTION 5
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Given the two organization structures below, answer the question.

A
Engineer-Owner

contractor contractor contractor

subcontractors subcontractors subcontractors

Owner
|

i
Engineer/Contractor

subcontractors

The following question requires your selection of CCC/CCE Scenario 28 (3.7.50.1.7) from the right side of your split
screen, using the drop down menu, to reference during your response/choice of responses. In the A relationship, the

subcontractor might use an unbalance bid to:

A. To get more payment early in the job

B. Decrease the chances of extended claim litigation

C. Reduce the risk of quantities being greater than estimated
D. Provides an alternative to competitive bidding

Correct Answer: C
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